
�

�

�

�

�

�

��

�

��

�

��

�

��

�

��

�

��

�

��

�

�	

�

��

�

��

�

��

�

�	

�

�

�

�

�




�

�	

�

��

�

��

�

��

�

��

�

��

�

��

�

��

�

��

�

��

�

��

�

�


�	

�	

��

�


�

��

�

�


�	

��

�

��

�

��

�

�

�

�	

��

��

�

��

�

�


�	

�	

��

�������� 	�
� ��
����� ����
������

� � ������������ ��������������
�������
�

� � ������� �����������
����������������������

� � ������ �����������
��������������������

� � ������ �����
�� ���������������

! � ����� ��
�����"��#

 � ������ �����������
������������

$ � ����!$ ���������#���������������

% � ����!% ���������#���������������

& � �����% '���"������#������


�� � ���� � �������
�������������������

�� � ���� � ����������������
���������


�� � ����%� ��������'�
��������
�������(�

����

�� � �"���% ��������
�
����������������)%�����*��+%

�� � ������ ������������
������������$���� 

�! � ������ ������������
�����$�� ��������������� ������"��

� � �����! ��������#����%�����������%����

�$ � �(�������� ���� ���������
���(�������� ����

�% � ������ �����&���� ����"����

�& � ����� ��������
�������
�"
����%�������)%����*

�� � ������ �����������������
�

�� � ����$%�� ��������,�,��
�������
���'����
��#���

�� � ����% ��

�'��
���
�'�"�����

�� � �����$ ��(����-��������������
�)�!����*

�� � ���!&& ����������������
��#���&���������


�! � '��!�� '���"������#���!���������!������

�  ������ ������"�.�"�������#������������

�$ � ������ ������"�.�"�������#�����������!

�% � ������ �����"�.���
���#��������

�&  �����! �����"�.�����
���������

�� � ����!! ���������
���!�� ��%

�� � ����$� �������������"�����!�� ��%��������

�� � ����$� �������������"�����!�� ��%����

�� � ����$% ���������#���"�������%�� ����

�� � ������ ��������������������

�!  ����� '��"�
��������!�� ���������� ���

� � �����$ '��"�
����������%���������� ���

�$ �� �����& '��"�
���������������������� ���

�%  ����� '��"�
���������!�� ���

�& � �����$ '��"�
�����������%���

�� �� �����& '��"�
���������������

��
����	��		

���������������

�����
��������� ���� �����

���������	
����
���
�	������������������


��	�

��������
��	���	����	��

�
�'���


���������


���
�-����


����������


�������

�
�� � ���

�!���

��

�	�"�#�

(�- ���&&

(�- ���&&

�$��

�

� �

��������������
�'���

�������������"�
'�������������
�������������������
��������"��

����
�������
�/

��
���������������������������������
�����0��������������������..0������������������0��
�����������������������������...0�����!

�"�
���������
�(������

�����
(�

�

������	�
��������	��������
���������	���

"�"�"�"�" ��������%��������������������&��

�����
'

���������
���

����������� �����
'���������(

�����!�$���	�)*+�

����%�����



Part Number Description Bubble Number
CW31867-311 WELDMENT, CONNECTION, 9 3/4, W/1 FL 3.11
CW31863-311 WELDMENT, SEAT, LONG PULL, STONE HG 14.11
CWTAYN031-300 SCREW, BUTTON HEAD, BLK XYLAN,5/16 17
CWWBKN031-007 WASHER, FLAT, TYPE A, SAE, 5/16 ID 18
CWWALYN031-008 WASHER, SPLIT, 5/16 ID, BL 20
CWTAYN031-300 SCREW, BUTTON HEAD, BLK XYLAN,5/16 21
CWWBKN031-007 WASHER, FLAT, TYPE A, SAE, 5/16 ID 24
CWWALYN031-008 WASHER, SPLIT, 5/16 ID, BL 27
CWHCYN050-350 SCREW, HEX HEAD, BLK XYLAN, 1/2-13 29
CWCAYN038-100 SCREW, SOCKET HEAD, BLK XYLAN, 3/ 31
CWHCYN050-500 SCREW, HEX HEAD, BLK XYLAN, 1/2-13 32
CWWBKN038-007 WASHER, FLAT, TYPE A, SAE, 3/8 ID 33
CWHCYN050-100 SCREW,HEX HEAD,BLK XYLAN,1/2-13 X 1 36
CWWALYN038-009 WASHER, SPLIT, 3/8 ID, BLK XYLAN 37
CWWBKN050-010 WASHER, FLAT, TYPE A, SAE, 1/2 ID X 37
CWHCYN050-100 SCREW,HEX HEAD,BLK XYLAN,1/2-13 X 1 39
CWKDYN050-059 LOCKNUT, NYLON INSERT, FULL, UNC, 1 41
CWKADLN050-081 NUT, ACORN, 1/2-13 42
CWBFNN050-250 STUD, 1/2-13 X 2 1/2 46
CWKADLN050-081 NUT, ACORN, 1/2-13 47
CWWBKN050-010 WASHER, FLAT, TYPE A, SAE, 1/2 ID X 48
CWWALYN050-013 WASHER, SPLIT, 1/2 ID, BLK XYLAN 49
CWWALYN050-013 WASHER, SPLIT, 1/2 ID, BLK XYLAN 50
CWBFNN050-250 STUD, 1/2-13 X 2 1/2 51
CW30245-731 WELDMENT, ADJ. LEVELING FOOT,BLK ZI 52
CW31891-311 WELDMENT, UPRIGHT, LONG PULL, STONE 55.11
CW31595-731 HANDLE, NARROW GRIP ROW, BLACK ZINC 129
CW31597-731 HANDLE, WIDE GRIP ROW, BLACK ZINC 130
CWAC4020-101 ACCESSORY, HANDLE , DOUBLE D, SOLID 131
CW10510-721 ASSY, PLATE, WEIGHT, 10 LBS, WRKL B 201
CW10520-721 ASSY, PLATE, WEIGHT, 20 LBS, WRKL B 202
CWAC1133-101 BUSHING, WEIGHT PLATE, LDPE PLASTIC 203
CW30172-751 ASSY, 4.00 IN WEIGHT STACK PIN AND 227
CW30173-751 ASSY, 6.00 IN WEIGHT STACK PIN AND 228
CWLDNN038-200 PIN, ROLL, DIA 3/8 X 2 250
CW30184-901 ASSY,BARREL,TOP PLATE,ALUMINUM 251
CW10550-721 PLATE, WEIGHT, MED TOP (MTP-S), 10 283
CW10550-722 PLATE, WEIGHT, MED TOP (MTP-S), 10 283
CW30133-711 SELECTOR STEM, 25 PLATE,0 .875 DIA, 310
CW30011-101 LABEL,WARNING WEIGHT STACK 311
CW12401-106 LABEL, WEIGHT PLATE, 20 LBS/ 8 KG 319
CW12401-110 LABEL, WEIGHT PLATE, 30 LBS/ 13.6 K 323
CW12401-114 LABEL, WEIGHT PLATE, 40 LBS/ 18.2 K 327
CW12401-118 LABEL, WEIGHT PLATE, 50 LBS/ 22.7 K 331
CW12401-120 LABEL, WEIGHT PLATE, 60 LBS/ 27.3 K 333
CW12401-122 LABEL, WEIGHT PLATE, 70 LBS/ 31.8 K 335
CW12401-124 LABEL, WEIGHT PLATE, 80 LBS/ 36.4 K 337
CW12401-126 LABEL, WEIGHT PLATE, 90 LBS/ 40.9 K 339
CW12401-128 LABEL, WEIGHT PLATE, 100 LBS/ 45.5 341

302 Longpull Single



CW12401-129 LABEL, WEIGHT PLATE, 110 LBS/ 50 KG 342
CW12401-130 LABEL, WEIGHT PLATE, 120 LBS/ 54.6 343
CW12401-131 LABEL, WEIGHT PLATE, 130 LBS/ 59.1 344
CW12401-132 LABEL, WEIGHT PLATE, 140 LBS/ 63.6 345
CW12401-133 LABEL, WEIGHT PLATE, 150 LBS/ 68.2 346
CW12401-134 LABEL, WEIGHT PLATE, 160 LBS/ 72.7 347
CW12401-135 LABEL, WEIGHT PLATE, 170 LBS/ 77.3 348
CW12401-136 LABEL, WEIGHT PLATE, 180 LBS/ 81.8 349
CW12401-137 LABEL, WEIGHT PLATE, 190 LBS/ 86.4 350
CW12401-138 LABEL, WEIGHT PLATE, 200 LBS/ 90.9 351
CW12401-139 LABEL, WEIGHT PLATE, 210 LBS/ 95.5 352
CW12401-140 LABEL, WEIGHT PLATE, 220 LBS/ 100 K 353
CW12401-141 LABEL, WEIGHT PLATE, 230 LBS/ 104.6 354
CW12401-142 LABEL, WEIGHT PLATE, 240 LBS/ 109.1 355
CW12401-143 LABEL, WEIGHT PLATE, 250 LBS/ 113.6 356
CW12401-144 LABEL, WEIGHT PLATE, 260 LBS/ 118.2 357
CW12401-145 LABEL, WEIGHT PLATE, 280 LBS/ 127.3 359
CW12401-146 LABEL, WEIGHT PLATE, 300 LBS/ 136.4 360



Part Number Description Bubble Number
CW31867-311 WELDMENT, CONNECTION, 9 3/4, W/1 FL 3.11
CW31863-311 WELDMENT, SEAT, LONG PULL, STONE HG 14.11
CWTAYN031-300 SCREW, BUTTON HEAD, BLK XYLAN,5/16 17
CWWBKN031-007 WASHER, FLAT, TYPE A, SAE, 5/16 ID 18
CWWALYN031-008 WASHER, SPLIT, 5/16 ID, BL 20
CWTAYN031-300 SCREW, BUTTON HEAD, BLK XYLAN,5/16 21
CWWBKN031-007 WASHER, FLAT, TYPE A, SAE, 5/16 ID 24
CWWALYN031-008 WASHER, SPLIT, 5/16 ID, BL 27
CWHCYN050-350 SCREW, HEX HEAD, BLK XYLAN, 1/2-13 29
CWCAYN038-100 SCREW, SOCKET HEAD, BLK XYLAN, 3/ 31
CWHCYN050-500 SCREW, HEX HEAD, BLK XYLAN, 1/2-13 32
CWWBKN038-007 WASHER, FLAT, TYPE A, SAE, 3/8 ID 33
CWHCYN050-100 SCREW,HEX HEAD,BLK XYLAN,1/2-13 X 1 36
CWWALYN038-009 WASHER, SPLIT, 3/8 ID, BLK XYLAN 37
CWWBKN050-010 WASHER, FLAT, TYPE A, SAE, 1/2 ID X 37
CWHCYN050-100 SCREW,HEX HEAD,BLK XYLAN,1/2-13 X 1 39
CWKDYN050-059 LOCKNUT, NYLON INSERT, FULL, UNC, 1 41
CWKADLN050-081 NUT, ACORN, 1/2-13 42
CWBFNN050-250 STUD, 1/2-13 X 2 1/2 46
CWKADLN050-081 NUT, ACORN, 1/2-13 47
CWWBKN050-010 WASHER, FLAT, TYPE A, SAE, 1/2 ID X 48
CWWALYN050-013 WASHER, SPLIT, 1/2 ID, BLK XYLAN 49
CWWALYN050-013 WASHER, SPLIT, 1/2 ID, BLK XYLAN 50
CWBFNN050-250 STUD, 1/2-13 X 2 1/2 51
CW30245-731 WELDMENT, ADJ. LEVELING FOOT,BLK ZI 52
CW31891-311 WELDMENT, UPRIGHT, LONG PULL, STONE 55.11
CW31595-731 HANDLE, NARROW GRIP ROW, BLACK ZINC 129
CW31597-731 HANDLE, WIDE GRIP ROW, BLACK ZINC 130
CWAC4020-101 ACCESSORY, HANDLE , DOUBLE D, SOLID 131
CW10510-721 ASSY, PLATE, WEIGHT, 10 LBS, WRKL B 201
CW10520-721 ASSY, PLATE, WEIGHT, 20 LBS, WRKL B 202
CWAC1133-101 BUSHING, WEIGHT PLATE, LDPE PLASTIC 203
CW30172-751 ASSY, 4.00 IN WEIGHT STACK PIN AND 227
CW30173-751 ASSY, 6.00 IN WEIGHT STACK PIN AND 228
CWLDNN038-200 PIN, ROLL, DIA 3/8 X 2 250
CW30184-901 ASSY,BARREL,TOP PLATE,ALUMINUM 251
CW10550-721 PLATE, WEIGHT, MED TOP (MTP-S), 10 283
CW10550-722 PLATE, WEIGHT, MED TOP (MTP-S), 10 283
CW30133-711 SELECTOR STEM, 25 PLATE,0 .875 DIA, 310
CW30011-101 LABEL,WARNING WEIGHT STACK 311
CW12401-106 LABEL, WEIGHT PLATE, 20 LBS/ 8 KG 319
CW12401-110 LABEL, WEIGHT PLATE, 30 LBS/ 13.6 K 323
CW12401-114 LABEL, WEIGHT PLATE, 40 LBS/ 18.2 K 327
CW12401-118 LABEL, WEIGHT PLATE, 50 LBS/ 22.7 K 331
CW12401-120 LABEL, WEIGHT PLATE, 60 LBS/ 27.3 K 333
CW12401-122 LABEL, WEIGHT PLATE, 70 LBS/ 31.8 K 335
CW12401-124 LABEL, WEIGHT PLATE, 80 LBS/ 36.4 K 337
CW12401-126 LABEL, WEIGHT PLATE, 90 LBS/ 40.9 K 339
CW12401-128 LABEL, WEIGHT PLATE, 100 LBS/ 45.5 341

302 Longpull Single



CW12401-129 LABEL, WEIGHT PLATE, 110 LBS/ 50 KG 342
CW12401-130 LABEL, WEIGHT PLATE, 120 LBS/ 54.6 343
CW12401-131 LABEL, WEIGHT PLATE, 130 LBS/ 59.1 344
CW12401-132 LABEL, WEIGHT PLATE, 140 LBS/ 63.6 345
CW12401-133 LABEL, WEIGHT PLATE, 150 LBS/ 68.2 346
CW12401-134 LABEL, WEIGHT PLATE, 160 LBS/ 72.7 347
CW12401-135 LABEL, WEIGHT PLATE, 170 LBS/ 77.3 348
CW12401-136 LABEL, WEIGHT PLATE, 180 LBS/ 81.8 349
CW12401-137 LABEL, WEIGHT PLATE, 190 LBS/ 86.4 350
CW12401-138 LABEL, WEIGHT PLATE, 200 LBS/ 90.9 351
CW12401-139 LABEL, WEIGHT PLATE, 210 LBS/ 95.5 352
CW12401-140 LABEL, WEIGHT PLATE, 220 LBS/ 100 K 353
CW12401-141 LABEL, WEIGHT PLATE, 230 LBS/ 104.6 354
CW12401-142 LABEL, WEIGHT PLATE, 240 LBS/ 109.1 355
CW12401-143 LABEL, WEIGHT PLATE, 250 LBS/ 113.6 356
CW12401-144 LABEL, WEIGHT PLATE, 260 LBS/ 118.2 357
CW12401-145 LABEL, WEIGHT PLATE, 280 LBS/ 127.3 359
CW12401-146 LABEL, WEIGHT PLATE, 300 LBS/ 136.4 360


	302 Longpull Single
	302 Longpull Single2

